Eating Problems
1. Kermit eats up a cake in 6 minutes, Mrs. Piggy eats the same cake in 3 minutes. How long does it take for them to finish the cake together?
2.  A horse eats one haycock in four days, a cow eats it in six days, a sheep eats the haycock in twelve days. What time it is needed for them to eat one haycock together?
3. Kermit eats a larger cake in 24 minutes, Mrs. Piggy eats it in 12 minutes. Kermit started to eat first and Mrs. Piggy joined him after 3 minutes. How many minutes did it take for them to finish the cake? Which part of cake did Kermit eat?
4. Three turtles participate in a competition. Each has to pass a distance and at the end to eat its own prize. The first one crawls with speed 1meter/min and eats up the prize in 1 minute. The second one crawls with speed 2 meters/min and eats the prize in 2 minutes. The third one crawls with speed 3 meters/min and eats the prize in 3 minutes. Which turtle will finish first for the distance a) 12 meters? b) 4 meters?  c) 1 meter?   
5. The same turtles run to eat the prize that is the only one for all of them. The first one comes and starts to eat. The turtles coming later start to eat when they finish the distance (if there is something left). The winner is the turtle that will eat the biggest part of the cake. Who is the winner in each of the distances above? What part of the prize does the winner eat?
6. A pirate Jeremy is able to drink up a rum barrel in 10 days. A pirate Amelie needs 2 weeks for that. How much time do they need together to finish the barrel?
7. The hot water facet fills a bad in 23 minutes. The cold water facet fills it in 17 minutes. Maria opened first the hot water. How many minutes later should she open the cold water to be sure that finally the amount of hot water will be 1.5 times larger than the amount of colod water? 

8. Three mathematicians take part in “Funny loops” competition. The distance is 3000 m. They have got one single-seated push-cycle. The distance is straight, all of them start simultaneously. The time of the last finish is counted. The best time of competitors is 21 minutes. Is it any way to win for the team of mathematicians, if the speed of any mathematician alone is 125 m/sec, but the speed by push-cycle is 250 m/sec?
9. The lake has several springs in its bottom. A herd of 183 elephants is able to drink all the water from the lake in one day. A herd of 37 elephants will drink all the water in 5 days. How much time is needed for one elephant to drink all water?

10. (Newton’s problem) 70 cows will eat all the grass on a meadow in 24 days. 30 cows will eat the grass in 60 days. How many cows would eat all the grass in 96 days? (Don’t forget  that grass is growing)  
